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Divide by 10, no remainders

Division Practice Worksheet

5,670 + 10 = 630 + 10 =
7,200 + 10 = 840 + 10 =
89,010 + 10 = 15,730 + 10 =
940 + 10 = 930 + 10 =
2,870 + 10 = 201,150 + 10 =
437,660 + 10 = 7,330 + 10 =
650 + 10 = 241,680 + 10 =
860 + 10 = 702,820 + 10 =
2,460 + 10 = 110 + 10 =
130 + 10 = 568,590 + 10 =
6,690 + 10 = 60,180 + 10 =
140 + 10 = 530,790 + 10 =
2,770 + 10 = 713,070 + 10 =
49,040 + 10 = 490 + 10 =
603,440 + 10 = 350 + 10 =
99,880 + 10 = 950 + 10 =
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Divide by 10, no remainders

Division Practice Worksheet

5,670 + 10 = 567
7,200 + 10 = 720
89,010 + 10 = 8,901
540 + 10 = 54

2,870 + 10 = 287
437,660 + 10 = 43,766
650 + 10 = 65

860 + 10 = 86

2,460 + 10 = 246

130 + 10 = 13

6,690 + 10 = 669

140 + 10 = 14

2,770 + 10 = 277
49,040 + 10 = 4,904
603,440 + 10 = 60,344

99,880 + 10 = 9,988

630 + 10 = 63

840 + 10 = 84

15,730 + 10 = 1,573
530 + 10 = 53
201,150 + 10 = 20,115
7,330 + 10 = 733
241,680 + 10 = 24,168
702,820 + 10 = 70,282
110 + 10 = 11

568,590 + 10 = 56,859
60,180 + 10 = 6,018
530,790 + 10 = 53,079

713,070 + 10 = 71,307

490 + 10 = 49
350 + 10 = 35
950 + 10 = 95
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